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Example: Find Cos™ (—if-) c%
Let 6= Cos™ [——@—J
2
Then, Cosf):—\—/;g ... Therefore, |Cos {—l/g-] = 150

\

Name

For which angle in the restricted

area is the cos(—?} =?

Block

Evaluate the following on your calculator in degree mode.

1. cos'(0.7)= 45(90
4. cos'(-0.7)= ‘fb -Lt'o

How does the 2™ row compare with the first row? Why?

L4 Sup L5 opp. ¢

Evaluate the following without a calculator.

8. sin' (—?J 0"

2. sin? (0.26) = lsl

5. sin (-0.26) = —|©.

0

e 7. Cos“(%) 0

10. cot (Tan' 2) J— 11. Arctan (-1) ~460

2

13. cos(Sin" - =P

vz
oy (-45° )]
16. Arccos(—?} \60'

14. Sin' [g] (00°

17. Arcsin [—\/ZEJ %0

Find the exact value of the expression (hint: sketch a right triangle).
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20. tan(cos™3) 15
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19. cos (sin'lg)
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‘ 22. sin (Tan‘%j 23. sin[Arctan (—/2 )] -\)z
. : j =
|7 3

3. tan' (3.5) = r)q' ( j

.tant (-35) = -74 |°
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15. sin (Arcsin g]

18. Arccof(—?] ~— @OO

Hrctan (U3)
b
21. tan (Arcsin -;) ;f’,,
o ﬁg 14 f‘é{(—f
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24. A in —
csc( rcsin 15)



Evaluate the following without a calculator.

1. Cos* (—?] = 2. sin? [——JZZ) -
~45° )
3. Arctan (—\—/3.5] — 4. Arccosl

5. sin (Sin‘lg) 6. cos (sm‘l—%

V3

7. tan (605‘1—7 8. sec Cos 2)

tan ISO T
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9. c¢sc (Arctan -1) 10. cof(Arcsin%)
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s ()X Z0° cos™ (== L@
13. sin (Cos“-léj : 14. cos [Sm“\/_J
17
I ] C *=G-
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15. sin [Arc‘ran—\/g—] | 16. Sin! (tan 45°)
s 30° = (- {5"‘—(1): ;
17. Cos?! (sinﬁ) 18. sec (Cos’i) :
’ 6 ) 5

o )- (3
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19. c¢sc [Sm 10
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